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1) (a+b)? = (a+b)@+bh)

=a(a+b)+b(a+b)
=—aXa+aXb+aXxb+bxb
= a’ +ab + ab + b?

=a® + 2ab + b?

C(a+b)2=a2+2ab+b2>

2) (a-b)>=a’-2ab + b?

(@a-b)’=(a-b)(@-b)

=a(a-b)-b(a-b)
—axa—axXxb—axb+bxb

=a’—ab-ab + b?
= (a-b) (a—Db)

= a’-2ab + b?

[(a + b)? = a’-2ab + bz}




(a+b)3=a3+3ab(a+b)+b3\
(@a-b)®=a%-3ab(a-b)-b3
a®+ b3 =(a+b)(a®+ab +b?
a>-b3=(a-b)(a’>+ ab + b?
1 &1 urwa FTd Hifore -
(2a + 3b)?

= (2a + 3b) (2a + 3b)

= 2a(2a + 3b) + 3b(2a + 3b)
=2aX2a+2ax3b+2ax3b+3bx3b
= 4a* + 6ab + 6ab + 9b?

=4a% + 12ab + 9b?

(2a + 3b)*=4a® + 12ab + 9b? }

Y fa=IY UFEA T IUANT HIb & DIToTT |
101 x 101

= (101)?

= (100 + 1)2




= (100+1) X (100+1)

= 100(100 + 1) + 1(100 + 1)

= 100X 100+ 100 x 1+ 100 x 1+ 1 x 1
= 1002 + 100 + 100 + 12

=10000 + 200+ 1

=10201
Y : 157 x 143 BT [UAEGH JATd DT |
157 x 143

= (150 + 7) (150 - 7)

= (150)? - (7)?
= 22500 - 49
= 22451

UY : XA DI

875 x 875 x 875 + 125 x 125 X 125
875 x 875 — 875 x 125 + 125 x 125

875 x 875 x 875 + 125 x 125 X 125
875 x 875 — 875 x 125 + 125 x 125

. 8753 +1253
"~ 8752-875 x 125 +1252

__ (875+125)(875%- 875 x 125 +1252)
. 8752— 875 x 125 +1252

=875+ 125
=1000




TUFES DT x% + 11x + 24

ed
x% +11x + 24
=x?+((3+8)x+(3x8) 11=3+8) 24=
(3x8)
=xx+3x+8x+3%X8
=x(x+3)+8(x+3)
=x+3)x+8)

UFES DT 10y2 + 11y — 6

&

10y2 + 11y — 6

=10y% + 11y — 6 11=15-4 15%x4 = 10%x6 =60
=10y?2+ (15— 4)y—6

= 10y? + 15y — 4y — 6

=2y X5y+3X5y—2x2y—2x3

= 5y(2y+3) —2(2y + 3)

= (2y +3)(5y - 3)

wy 1 &1 agwH gHIad [1d Sifere
27x%? 31X 3xy?

3 3R 27 ST, 27

x 1 MIHIH °Td o g1 H SHIMF = x*
y DI DT °Ud Sl gHI T IUAFT = 2
3d: . 9. = 27x* y?

48y"x° 3R 12y3x5

48 3R 12 BT A= 48
x B! SYHTH °1d Sl a1 H SUIMY = x?




y B SHYHAH °1d S a1 & SHAFE = 7
3 TH. = 48x°

18(x + 2)3 3R 2403+ 8)

T 18 R 24 BT A . = 72
X+2P3=x+2)(x+2)(X+2)
3+ 8) = (x3+ 2%
= (x + 2) (x> + (2x) + 29)
= (X + 2) (% + (2x) + 4)
3{d: FgUGI BT A . = (x + 2)° (@ + (2x) + 4)

Uy Y &1 HgTH GHIUGAP JTd PIfoTg
(x + 1) 3R (x + 1)? (x -1)
x2 -1 3R x* -1

x2—1=x%-1?

=x+1)x=-1)
X4—1 = (XZ)Z _(12)2
=(x+ 1) (x—=1)?
3T IgUGI BT H. . = (x + 1) (x— 1)

x3—y33ﬁ'\"x2—y2

B X3 -y = (x—y)(X° + 2xy + Yy?)
= (X—y)X +y)°
X —y* = (x+y) (x-y)
3 IgUGI DI H. . = (x + y) (X —y)




